6.34=6+0.3+0.04

1.59 = |+ |+ |
@ 0.1,0.5,0.09 @1,0.5,0.09 ® 0.1,0.05,0.09
@ 5,0.1,0.09 ® 9,0.5,0.01

1.59 =1+ 0.5+ 0.09




@ (1) 0.2201  (2) 1.5338 @(1) 2.201
® (1) 22.01 (2) 15.338 @ (1) 220.1

® (1)220.1 (2) 1533.8

(2) 15.338

(2) 153.38

B

201

2—— =240.201 = 2.201
1000 *

15ﬁ =154 0.338 = 15.338

1000




123079141 3. [ Jol e 02 [ o] A, 72
[ ]l Aele gepay,

® 0.1,0.1,0.1 @ 0.1,0.01,0.01
@0.1 ,0.01, 0.001 @ 0.001, 0.01, 0.001

® 0.001, 0.001, 0.001

B

12,
L TERT




3
@E_w

@ 0.7
®1
9
@E:w
® 0.4
&9 F7]|= A HEol 255 20
AAdg7r doH A AR 2, 4 A, AR 2 9
£o2 378 vyt
& 5E A= dsi i
L%mzo&%ﬂéﬁqq
wrebA 7 2 = 19y

™




@ 4.21, 4.19 @ 4.21, 4.195

@ 4.201, 4.19 @4.201, 4.198

® 4.21, 4.198

B

4=2] 2717} 0.001 4 Eol5 Y.
A [ ] =42+ 0001 =4.201

SHA [ ]=4.199 - 0.001 = 4.198




e HhEA ARt A& A2AlL.

(1) 0.26+0.35  (2) 0.72 + 0.62

@ (1) 0.51 (2) 1.34 @ (1) 0.51 (2) 1.35
@(1) 0.61 (2) 1.34 @ (1) 0.61 (2) 1.35
® (1) 0.61 (2) 1.37

(1) 0.26 + 0.35 = 0.61
(2) 0.72 + 0.62 = 1.34




7. O EAE 25E AU v e 2e 120,

56 7
(1) 100 (2) T
@ (1)0.56 (2)0.47 @ (1)5.056 (2)4.007
® (1)5.56 (2)4.7 @(1)5.56 (2)4.07
® (1)5.056 (2)4.07
(1) 5% =5+ % =5+ 0.56 = 5.56
(2) 4%0 =4+ 1—50 =4+0.07 = 4.07




e

ilo

[ ool e S8 Az 2 A

JI2AQ,

(1) 102m = Jkm

(2) 565 =[_|ke
@ (1) 1.02 (2) 0.56 @ (1) 1.02 (2) 0.056
® (1) 0.102 (2) 5.6 @ (1) 0.102 (2) 0.56

®)(1) 0.102 (2) 0.056

O

B

(1) 1m = 0.001 km
102m = 0.102km
(2) 1g =0.001kg
56 g = 0.056 kg




zl,es?li| 4.64 |__L| 4.65

@ 4.632, 4.643 @ 4.632, 4.644 ® 4.632, 4.645
@4.632, 4.646 ® 4.632, 4.647

B

4.639F 4.64A101 8 10 T2 QOB R 212 =5 9 719
7] 0.001 4 Yt
webd AR [ [ 463004 Ze BF 27 A 9]2]o]
QOB 463+ 0.002 =4.632 T}

SRR Je4640]4 B 2L 67 AT Ao gom
2 4.64 + 0.006 = 4.646 JYtt.




10. A"FS shed $Al= 5 9A7IA 67.24m S DRI Yehs
58.84mE WRAFUTH F7F dry o He] d5=A] F5HA L.

@%XH, 8.4m @ et 84m ® <A, 86m
@ Y=, 8.6m ® <A, 74m

67.24 - 5884 =84 o]|P2 HA|7} 84m ¢ He| AF ]




SAlS SHA 2.

&)

11.

2.254 + 3.993

6.247




12. Al 250 MAS SHAL.

11.777 - 8.305 — 1.999

[ 2
> =t 1473

11.777 - 8.305 - 1.999 = 3.472 — 1.999 = 1.473




13. oA FET7HA]= 0.694 km ©] i, 2ol A SF7bA] = 1.426 km
AUt oA 2F7E AA a7 = B km 1A F5HA L,

» E km

> HED 212km

AolA staztA o] 7))
(RN B o] A2+ (BTAA SFariAe] Azl
= 0.694 + 1.426 = 2.12(km)




14.

877-237-198=[ |-198=] |

@ 6.04, 4.02 @ 6.04, 4.42 @ 6.4, 4.02
@6.4, 4.42 ® 6.4, 4.52

8.77—-237-198=6.4—-198 =4.42
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16. o® %o 285 = HATIL 5.02 7} H LU ol W4e} 1.847 O
g 7 2.

> E:

> ®eh: 0.323

(o1 42)+2.85 = 5.02,
(o1H %)= 5.02 - 2.85 = 2.17
2.17 - 1.847 = 0.323




17. the 22 F1EE @ 04 AHgste] BHE APy 2 a5 A A 4
Vg A a5 A Ae 50 A PR (0L 25 W
A9 & % g&yth)

) &) )




— A

o]
Oe

19 o]t}.

Sk O
-2

.18

19

o el :[]-1-
SN e A2 4,8, 70| B2

& A 22 1 10-3 =7,
&5 A A= 9 -

Q]
=




19.

B

g F Ao [ Jeto] BELR EojZ 4 A A5 G
TOFALL
1.82 > 1] Jp4
8.054 < 8.0[ ]
> &
> ®E. 13

fle

0, 1,2 3 4,5 6, 744t}
6, 7,8, 9 ¥yrh

59 ?h2 13 dyrh

whebd, [ Jotell 2B o= EojZd 4 9t A=

1.82 > 1] 4ol [ [gtell Fghe SatE Rt Ze 541

8.054 < 8.0 RolA [ |ote] g b sETE 2 $9




e Ee A4 9 e 7L o, o, 2 ok A 2lE vErd
EAUT 2ol A ni7pz] 9] A= dubA] FSHAL L. (o2 7HollA
o7 o] A=y )

o]
A

7}
3.73 | Y
F ot
3.409| =
13.524 7.504 u}
(&9 : km)
B km

[ 2
> &bl 4.095km

€5
(2ol HiztR1e] A2)

(koA E7ARI 2] A ) (el 2t o] A
= 7.504 — 3.409

= 4.095(km)




